HEfE<3 Ik | HEE 4~6 X | HEE27 X [ A

43 (25.0) 28 (16.3) 101 (58.7)

20 (11.6) 26 (15.1) 126 (73.3)

s NS 442.471202.74  297.924257.01 189.43+152.21
s A= 461.264273.22  598.274399.53 236.51+198.24

-0.449 -4.221 -1.530

_______ 0.654 0.000 0.128

R3ILMFEEIMI2NH SRS KEHREBEALE (n=65, x+s)

Baes/ (kifd) THmHE/ (g/d) Rl / (g/d) K E [ (g/d) BREg4d4% [/ (g/d)

3 559.30+1 862.19 204.29+£114.75 189.43+152.21 399.631158.38 37.55+15.73

3 340.99+1 483.84 128.301£64.01 236.51+198.24 433.46x197.05 50.38+18.62
0.756 -4.513 1.943 -1.057 -4.122
0.452 0.000 0.056 0.294 0.000

R4 AFAHEBAZEZE3IM2NHEEREERLE (n=172, kg, x*ts)

‘ PR 2 He{E<3 ¥k / [ HEfE a~6 W% | B HeE>7 % | B
aiﬁ%ﬁvz} -
gl 30 (25.6) 22 (18.8) 65 (55.6)

{ HEWMRANEREAS ST } R 9 (22.0 5 (12.2) 27 (65.8)
l B3 4 (28.6) 1 (7.1 9 (64.3)
L FHARAES J RS 77 JE 3 A B A [ PRI 7 AR = B HRE R DL LB (1% )
l_[;:,ggx.\ i
% KB (i B N 5.73£5.75 2.45£4.06
ﬁg%,{j{{ﬂ HERA. B )\'%,&) 5.61+6.47 2.70£6.20
=194 1 7.00£8.05 4.1746.48
0.681 1.097
B RAEEE GGEEERR. 0507 2236
— ﬁ:%ﬁ% ﬁHE«Ui/R %ﬁﬁ)\i@ %6 77 Ja 31 A AR 07 A= B HE R S ELE (%)

| WEUH, AU, Bise

28 (24.4) 22 (19.1) 65 (56.5)

15 (26.3) 6 (10.5) 36 (63.2)

FEINANRETHYGEAL Tkg, FAE 7 )50 1E) 6938 o
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